ALL MY SONS
ANSWER KEY TO ACT ONE

LOTS

1) Describe the setting (time and place) of the play.
The setting of the play is in the Mid-West of the United States of America, in August 1946 in the backyard of the Keller family.

2) What part of the newspaper does Joe read?
Joe reads the want ads of the Sunday paper.

3) Why was the tree in the backyard planted and what happened to it?
The tree was planted in memory of Larry and it broke because of a storm leaving only a stump.

4) What part of the newspaper does Chris read?
Chris reads about books but not the books themselves. He is more educated than his father.
5) What do Sue and Jim argue about?
Sue and Jim have a rather difficult marriage. She helped to fund Jim’s medical studies and now he feels under pressure to “return the debt” to her by earning a lot of money. Jim spends so much time with his patients and is always ready to help them and Sue feels that Jim neglects her and the family in favour of his patients. Sue makes jokes that are hurtful to Jim. They argue about money and about the fact that Jim doesn’t do more for Sue and the family. She feels that Jim resents her because he owes her for what she did when he was an intern. This makes for friction between them.
6) What is Frank doing for Kate?
Frank thought Larry could still be alive and was checking Larry's horoscope for the supposed day of his death to see if it was favorable or not, a favorable day meaning that he could not have died at that time.
7)  Why is Kate upset by the dream?
Kate is upset because she dreamed that Larry was still alive but crashed in his plane over their house.

8) Who is Annie and why does she come to visit the Kellers?
Annie was Larry's girlfriend but after he disappeared she began exchanging letters with Chris and the fell in love. She comes to the Kellers to see Chris and hopefully marry him. 

HOTS

1. Why does Chris say to his mother, “We're like at a railroad station waiting for a train that never comes in?”

The family has been waiting for Larry ever since he disappeared five years ago. They never took up their lives again. Chris knew that Larry was dead and therefore tells Kate that Larry, symbolized by the train, will never come back. 

2. Choose two characters and explain the conflict between them.
Accept all logical answers. There is conflict between almost all the characters.

For example: Mother and Chris – the conflict is whether Kate will allow Chris to marry Ann.

Sue and Jim – conflict about whether Jim should fulfil his ideals and give up medicine for research. By so doing he would earn less money.

Kate & Ann – In conflict over Chris. She suspects that Ann is having a relationship with Chris and she resents her for this. Ann wants to forget Larry and move on with her life. Kate doesn’t agree to her marrying Chris.
3A. Why is the jail game Keller plays with Bert ironic?

The game is ironic because we know that Joe was in jail for a while and instead of putting it in his past, he opens a jail house in his basement. The irony is that it suggests that he is hiding something from the reader. The HOTS used to answer this question is Inferring from what we are told about Keller’s actions in playing the jail game in the play. (We can infer this from his actions. )
4. Choose two characters and explain how the war affected their lives.

Chris: He has deep respect for the soldiers who were with him in the war. They showed selfless love and were willing to sacrifice themselves  for a greater cause.

This makes Chris even more idealistic and believes in higher principles than just living your own private life.  He comes back home to find that people are living meaningless lives and don’t understand what he and the others were fighting for in the war. 

Mother: She was affected by the war as she lost one of her sons, Larry, and has to live with the uncertainty about whether he is coming back or not. She has to find comfort in a tree planted in his memory.

5.A How do Chris and Joe each feel about money? Compare and contrast the two characters.

Joe Keller feels that everyone has the right to work hard and has the potential to fulfil the American Dream and achieve what he can for himself and his family. The family is the most important unit for Joe. He believes that almost any means can be used to achieve the aim of building a secure financial future for your family. Chris on the other hand, is a very idealistic man, who believes that one must have responsibility to society outside of one’s family. It is not enough to work all your life just for the good of your family. There is something bigger, a moral  responsibility to society which must be faced.
The HOTS used here is Comparing and Contrasting  the two characters.

